REVISION PLAN OF APRIL AND MAY
CLASS-VIII

SUBJECT ENGLISH ( MS. EKTA KHURANA /AREEBA)
1. MY ELDER BROTHER

I Answer the following questions.

1) The elder brother was not good at academics. How does the narrator convey this?
2) What was the difference in the routines of two brothers?
3) What was the elder brother’s reaction to failing for the second time?

4) Describe the timetable drawn by the narrator. How were the intent and reality completely different?
5) How did the elder brother’s sermons change when he failed for the first time?

2. SOMEBODY’S MOTHER
I Answer the following questions.

a) Why it was difficult for the women to cross the road?
b) Who helped the old lady

c) What was his reason for helping her?

d) What was old woman’s reaction to being helped?

e) Pick out the examples of simile used in the poem.

11 Read the extract and answer the following questions.

A. Nor offered a helping hand to her, So meek, so timid, afraid to stir.
a) Who is the ‘her’?

b) Who did not offer help to her?

c) Why was the lady afraid to stir?

B. God be kind to the noble boy Who is somebody’s son and pride and joy.
a) Name the poem and the poet.

b) Who is the noble boy referred to?

¢) Why did she pray for him?

A MOST IMPORTANT PERSON
I Answer the following questions.

Unlike Miss Lucy, Chester is not shy at all. Give evidence from the story to support the answer.
In What ways is the friendship between Miss Lucy and Chester unusual and remarkable?

In the end why does Miss Lucy believe that Christmas is the most important time?

How is Chester a most important person for Miss Lucy?

Hwnh e



A DAY IN THE COUNTRY
I Answer the following questions.

Why was Fyokla looking for Terenty?

Why did the little girl come looking especially for Terenty?

Why was Terenty respected?

What happened to Danilka? What caused the accident? How did Terenty help him?
What had Terenty learnt about the ants and the bees?

The story reflects Terenty’s love for the children. Give three reasons to prove this.
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PHRASE AND CLAUSE

PHRASE - A phrase is a group of related words. It does not contain a subject and a verb. There are different
types of phrases.

Examples: 1. from the stairs
2.torun
3. playing the piano
CLAUSE - A clause is a group of words that contains a subject and a verb. There are two types of clauses.
Examples: 1. The play was funny.
2. Since the play was funny.

01 ldentify the given words as a Phrase or a Clause

1. Throwing papers along the streets
2. While debris covered the park
3. With broken glass in the alley

4. Beside old trucks and cars

5. No one lives there

6. For lights on every corner

7. If the expense is too great
8. As hewalked home
9. Dragged up the subway steps
____10. Thousands of people walk every day

02 Underline the dependent clauses and circle the subordinating conjunctions (dependent words) that
introduce the dependent clauses.

1. I refused to go because | had homework to do.



2. | could make good grades if | studied.

3. After I finish college, I’1l get a job.

4. They were playing Frisbee while he was studying.

5. Her essay would have been better if she had rewritten it

DIARY ENTRY/NOTICE WRITING

1)
Yesterday it was your first day in your new school. You made new friends. Teachers were good to you
and you liked the infrastructure of the school. Write about your experiences and feelings about the new
school in your diary.

2) You are going on a school picnic with your classmates and teachers. You are very excited. The night
before the trip you sit down to write your diary. Describe in about 150 words what you have planned for
the picnic and how you hope to enjoy yourself there.

3) Write a diary entry discussing your viewpoint on whether it is better to be an only child or to have
brothers and sisters sharing your home and life with you. Do not use more than 150-200 words.

4) You are Ridhima/ Rohan, the secretary of the Science Club of your school. Write a notice is not more
than 50 words informing the students about the C VV Raman National Science Exhibition to be held and
requesting them to participate in it enthusiastically.

5) As secretary of the Debating Club of your school, Sacred Heart High School, write a notice not
exceeding 50 words inviting the students to participate in the Annual Debate for Classes VIl and VIII .
The topic for the debate is ‘Should uniforms be made compulsory in school?’

MATHEMATICS ( MS. SHIVANGI )
Revision of Chapter 1 and 12

Rational numbers
» Definition: A number is called Rational number if it can be expressed in the form p/q
where p and g are integers (q > 0). Example : 1/2, 4/3,5/7, -2, 4, 0 etc
» Additive Inverse: The additive inverse of a rational number is the same number with
opposite sign.

In general, for a rational number a/b the additive inverse is
—a/b.
0 is the additive identity for Rational numbers.



» Multiplicative inverse: A rational number a/b is called the reciprocal or multiplicative
inverse of ¢/d if a/b x ¢/d =1.
One is the multiplicative identity for rational numbers.

» Rational numbers are closed under the operations of addition, subtraction and
multiplication.
» The operations addition and multiplication are
(i) commutative for rational numbers.

(ii) associative for rational numbers.

> Distributivity of rational numbers: For all rational numbers a, b and c
a(b+c)=ab+acanda(b—c)=ab—-ac

» Rational numbers can be represented on a number line.
» Between any two given rational numbers there are countless rational numbers.

Q-1) What is the Multiplicative identity for rational numbers?
Q-2) What is the Additive identity for rational numbers?
Q-3) Write the additive inverse of (i) -4/5 (ii) -6/-5 (iii) 25/-16.
Q-4) Write the multiplicative inverse (i) -5 (ii) 3/5 (iii) 6
(iv) -5/8 x -3/7.
Q-5) Multiply 6/13 by the reciprocal of -7/16.
Q-6) The numbers and are their own reciprocals.

Q-7) Verify commutative property of multiplication for the following:

-5 11
x=—and y=—
12 13

Q-8) Solve using distributive property (1—96 X %) + ( % X %3 )

Q-9) Represent the following rational numbers on number line :
1/3,-8/5,11/6,-7/3
Q-10) Insert 10 rational numbers between -1/4 and -2/5.

Chapter - 12 Exponents and Powers




Laws of Exponents:
1) a™ =aim
2)a"xa"=a"""
Jat+a'=am™"

4) (am)n — amn
5)a"xb"=(axb)"
6)a" +b"=(a+b)"
7) a’ =1

Q-1) Find the value of:
. -2 ey 1
i) 5 ||)4_4
. 1. _ 173, 1
Q-2) Simplify: {(g) 2 _ (5) } = (Z) 2
Q-3) Simplify:
(i) (5 x 27)°
(i) (27t + 41
Q-4) Find the value of x for which 5% + 5 = 5°

25 x t~4
573 x10 x t—8

Q-5) Simplify:
Q-6) Express the following numbers in standard form:
(i) 543000000000000

(i) 0.000000023

Q-7) Write the following numbers in the usual form:
(i) 4.34 x 10°

(i) 3.14 x 107

Activity based Question:

Q-1) Ravi donated 1/10 of his salary to an orphanage, 1/3 of his salary spent on food, % of his
salary on rent and electricity and 1/20 of his salary on telephone. This month he donated

5000 in prime minister relief fund. He was left with 3000 with him, find his monthly salary.

Q-2) Find the distance of sun from all the planets and express it in standard form.



SUBJECT- SCIENCE ( MS. PARUL TYAGI )
REVISION WORKSHEET

Q1.

What will be, if two forces are applied on an object

40N 30N

(a) Net force (b) direction of net force

Q2.

Poly wool is mixture of-----
(a)Polyester + cotton

(b) Polyester + wool

(c) poly +ester

(d) Pole +ethylene

Q3.

Choose the correct answer: Two like poles of a magnet always

A) Attract

B) Repel

C) Either attract or repel
D) None of these

Q4.

This type of irrigation method have rotating nozzles on top
sprikle (b) drip (c) rahat (d) dhakli

Q5.

The raw materials used in making nylon
(@) Wood pulp (b) Cellulose  (c) Coal, water, air (d) All of these

Qs.

Choose the correct answer: If the forces acting on a body are balanced, the net force
force on the body

is -.

A) greater than zero

B) Less than zero

C) Zero

D) Either greater or less than zero

Q7.

The supply the water to crops at different intervals is called
(a) storage (b) Weedicides (c) Seeds (d) irrigation

Qs.

The Branch of agriculture which deals with the rearing of animal’s livestock is called----

(@ Animal husbandry (b) Sericulture (c) Horticulture (d) Silviculture

Qs.

Name the substance which are added to the soil in the form of nutrients for healthy
growth of plants.
(@ Manure (b) Weedicides (c) Seeds (d) DDT

Q10.

A synthetic fibre which works like wool.
(a) Nylon (b) Polyester (c) Acrylic (d) PVC




Q11. | If 80 newton force is applied on 20 m?area the find pressure.
Q12. | Synthetic fibre is need of time’ comment on it.
Q13 | Match items in column A with those in column B.
A B
(i) Kharif crops (a) Food for cattle
(i1) Rabi crops (b) Urea and superphosphate
(iii) Chemical fertilisers  (c) Animal excreta, cow dung urine and plant wastes
(iv) Organic manure (d) Wheat, gram, pea
(e) Paddy and maize
Q14. | Why the tip of nail is pointed?
Q15. | Complete the following
(a)Polyester + cotton = ---------
(b) Polyester + wool =-------
Q16. | Explain why the following are made of thermosetting plastics.
(a) Saucepan handles
(b) Electric plugs/switches/plug boards
Q7. | The pressure of a gas contained in a cylinder with a movable piston is 300 Pa. The area
of the piston is 0.5 m?. Calculate the force that is exerted on the piston.
Q18. | Calculate the pressure produced by a force of 800 N acting on an area of 2.0 m’
Q19. | Explain 5R’S.
Q20. | Write an activity to show that the cotton absorbs more water then synthetic cloths.
Q21. | Write the full form of PET and PVC.
Q22. | Show by an example that plastic is hon —reactive.
Q23. | Write two uses of nylon.
Q24. | What are the weed ?How can we control them?
Q25. | Differentiate between manure and fertilizer.
Q26. | Explain the two irrigation method which conserve water.
Q27. | Why does bleeding through nose starts in some people when they go on high mountain?

Micro-Organism friend and foe

SCIENCE ( MS. JAYSHREE JOSHI )

Flow chart




Different Types of Microorganisms
I

v ) 1) y
Bacteria Protozoa Algae Fungi
Example Example Example Example
Lactobacillus Bacteria, Amoeba Chlamydomonas, Yeasts
Rhizobium Bacteria Paramecium Spirogyra Moulds

+
Virus
Example

Common Cold Virus

HIV Virus

Micro-organisms

I—J—I"

Protozoa

KEY words :- Chp- Micro-Organism friend and foe
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Microorganisms are too small and are not
visible to the unaided eye.

They can live in all kinds of environment,
ranging from ice cold climate to hot springs
and deserts to marshy lands.
Microorganisms are found in air, water and
in the bodies of plants and animals.

They may be unicellular or multicellular.
Microorganisms include bacteria, fungi,
protozoa and some algae. Viruses, though
different from the above mentioned living
organisms, are considered microbes.
Viruses are quite different from other
microorganisms. They reproduce only inside
the host organism: bacterium, plant or animal
cell.

Some microorganisms are useful for
commercial production of medicines and
alcohol.

Some microorganisms decompose the organic
waste and dead plants and animals into simple
substances and clean up the environment.
Protozoans cause serious diseases like
dysentery and malaria.

Some of the microorganisms grow on our food
and cause food poisoning.

Some microorganisms reside in the root
nodules of leguminous plants. They can fix
nitrogen from air into soil and increase the
soil fertility.

Some bacteria and blue green algae present
in the soil fix nitrogen from the atmosphere
and convert into nitrogenous compounds.
Certain bacteria convert compounds of
nitrogen present in the soil into nitrogen gas
which is released to the atmosphere.

SOCIAL STUDY

SUBJECT GEOGRAPHY ( MS. NIDA)



Water

e Important & renewable resource.

e Three fourth of earth’s surface is covered with water, therefore the earth is called
water planet

e QOcean covers two-thirds of the earth’s surface whose water is saline & not fit for human
consumption.

e Fresh water accounts for only 2.7 percent.

e Only 1% of fresh water is available & fit for human use which is found as ground water.

e An abundance of water only seems to vary because it is in constant motion, cycling
through the oceans, the air, the land & back again, through the processes of
evaporation precipitation & run-off. This is known as water cycle .

e Use of water by humans: Not only for drinking & washing but also for agriculture.
Industries , Generating electricity through reservoirs of dams are the other usages.

Factors responsible for shortages in supply of fresh water:

e Increasing population.
e Rising demands for food & cash crops.
e Increasing urbanization.

Problems of water Availability:

e Areas facing shortages in fresh water supply:

Most of Africa ,west Asia, South Asia, parts of western USA, North-West Mexico, Parts
of South America & Entire Australia.

e Water shortage may be a result of variation in seasonal or annual precipitation or the
scarcity is caused by over-exploitation & contamination of water sources.

Conservation of water resources:

e Major contaminants: Discharge of untreated or partially treated sewage, agricultural
chemicals & industrial effluents in water bodies.

Measures that can be taken to minimize the loss of water




e Increase forest & other vegetation to slow the surface runoff & replenish underground
water.

e Water harvesting also save surface runoff.

e The canals should be properly lined to minimize losses by water seepage.

e Using sprinklers for irrigation.

e Using drip or trickle irrigation in dry areas.

Video link

https://www.youtube.com/watch?v=TLkbM6GfIN8&feature=youtu.be

https://www.youtube.com/watch?v=KmroszYAxEU&feature=youtu.be

Question & Answers

1. Why is earth called a water planet.
Ans.

e Wateris found in Abundance on the earth.
e |t covers about 75% of the earth surface because of these two reasons earth is
called a water planet

2. Define rain water harvesting
Ans.

e Rain water harvesting is a process of collecting rain water from roof tops & directing
it to an appropriate location where it is stored for future use.

Short Answer type questions(unsolved)



https://www.youtube.com/watch?v=TLkbM6GfIN8&feature=youtu.be
https://www.youtube.com/watch?v=KmroszYAxEU&feature=youtu.be

1. What are the other uses of water, besides drinking ?
2. What are reasons of fresh water shortage( three points) ?

3. Suggest three ways to conserve Water.

Long answer type questions

1. What measures can be taken to minimize the loss of water ?

Acivity

e Find out the states in India which adopt water harvesting system.

SUBJECT HISTORY ( MS. POONAM PATHAK)

Chapter 1 The Indian Constitution

https://www.youtube.com/watch?v=xGLIWGCPuzk

Exercises

1. Why does a democratic country need a Constitution?

Answer: There are various reasons why a democratic country needs a Constitution:

1.

2.
3.
4.

The basic ideals on the basis of which we as citizens aspire to live in our country are mentioned in the
Constitution.

It tells the fundamental nature of society

To define the nature of the political system of the country

It states a set of rules based on which people belonging to different religions and communities can
peacefully co-exist with each other.

2. Look at the wordings of the two documents given below. The first column is from the 1990 Nepal
Constitution. The second column is from the more recent Constitution of Nepal.

1990 Constitution of Nepal Part 7: Executive 2015 Constitution of Nepal Part 7: Federal Executive

Article 35: Executive Power: The executive power of Article 75: Executive Power: The Executive Power of
the Kingdom of Nepal shall be vested in his Majesty Nepal shall, pursuant to this Constitution and law, be
and the Council of Ministers vested in the Council of Ministers

What is the difference in who exercises ‘Executive Power’ in the above two Constitutions of Nepal?


https://www.youtube.com/watch?v=xGLlWGCPuzk

Answer: In Article 35 of the 1990 Constitution of Nepal, the powers to rule the country, to set rules and to manage
the country are all vested in the King of the country and the Ministers appointed under him.

However, Article 75 of the 2015 Constitution of Nepal states that the rules, governance and management of the
country will be based on the laws mentioned in the Constitution of the country under the supervision of the Ministers.

3. What would happen if there were no restrictions on the power of elected representatives?

Answer: In a democracy, the citizens of the country are responsible for electing their leaders. However, there is
always a possibility that the leaders might misuse their authority and use it for wrong purposes. Hence the
constitution has provided measures to safeguard the country against such misuse of powers.

4. In each of the following situations, identify the minority. Write one reason why you think it is important to
respect the views of the minority in each of these situations.

(a) In a school with 30 teachers, 20 of them are male.

Answer: The minority here are the 10 female teachers teaching in the school. It is important to keep the point of
view of the female teachers in mind, because despite being a minority, their opinions are of great importance and no
decision made keeping the majority views in mind, should cause discomfort for the female teachers.

(b) In a city, 5 percent of the population are Buddhists.

Answer: Here, the minority is the 5 percent Buddhist population in the city. Their views should be respected. Just
because they are in a minority with different religious beliefs, they should not be disrespected. Any decision should
be taken keeping in mind the religious feelings of the Buddhist population.

(c) In afactory mess for all employees, 80 percent are vegetarians.

Answer: The minority here are the 20 per cent non-vegetarians having food at the factory mess. It is important that
the food prepared in the factory mess must be prepared for both vegetarians and non-vegetarians.

(d) In a class of 50 students, 40 belong to more well-off families.

Answer: In this case, the minority are the 10 students who do not belong to well-off families. It is important to keep
their viewpoints in mind, because they may not be able to contribute to the various expenses required by the school
and they should not feel humiliated for the same.

5. The column on the left lists some of the key features of the Indian Constitution. In the other columns
write two sentences, in your own words, on why you think this feature is important:

Answer:

Key Feature Significance

Federalism It is important, because in a country like India, there are people living at different levels and
only one level of government cannot govern them. Hence, to form a government for the
different levels is important. The Panchayati Raj is responsible for governing the village, the
state government is responsible for governing the state and the Central Government is
responsible for governing the entire country.

Separation of There are three organs of governance: legislature, executive and judiciary. Each of these

Powers organs have different powers and serve different functions. In order to prevent the misuse

of power by any one branch of government, the Constitution says that each of these organs
should exercise different powers.



Fundamental
Rights

Parliamentary
Form of
Government

ACTIVITY:-1

The Fundamental Rights are a set of rights that the Constitution offers to every citizen of the
country. These rights include the Right to Freedom, Right to Equality, Right against
Exploitation, Right to Freedom of religion, Cultural and Educational Rights and the Right to
Constitutional remedies. These rights give every citizen of the country the right to be
considered as an equal, to not get discriminated based on caste, culture or religion, to get
equal educational opportunities and to be equal in front of the law.

A democratic government is one where the citizens of the country have the right to elect
their representatives. When the Constitution was being made, it was made sure that every
citizen of the country irrespective of caste, colour, creed and religion will have the right to
elect their leaders under universal adult suffrage, i.e. where the right to vote will be given to
all.

MAP WORK-Identify the flags and Shade the different countries from where the the Indian Constitution has adopted.

ACTIVITY -2


https://www.google.com/url?sa=i&url=https://www.indiatoday.in/education-today/gk-current-affairs/story/constitution-day-borrowed-features-in-the-indian-constitution-1622632-2019-11-26&psig=AOvVaw0LOVDhQmnzpTKS9Y5Zkzg5&ust=1589436322059000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCNCnwpOXsOkCFQAAAAAdAAAAABAD

ADOPTION OF THE
CONSTITUION
= On 26 November 1949 the constitution
was finally approved and signed the
member of the constituent assembly.

= It took 3 years and costed Rs 6.4 crores.

= The new constitution came into effect on
26 January 1950.

- C. Rajagopalachari took over from I.ord
Mountbatten and became the first
Governor General of India.

= India became a republic and Dr. Rajendra
Prasad was the first President.

The Indian Constitution Summary

students will study about the Indian Constitution and how it has shaped to form a proper governance scheme for
the people of the country. The importance of the Constitution in a democratic country is what the author discusses in
this chapter.

The key features of the Indian Constitution have been talked about in detall in this chapter. Given below are the
important features of the Indian Constitution:

1. Federalism: the existence of more than one level of Government.

2. Parliamentary Form of Government: the right to vote for each citizen of the country irrespective of caste or
creed

3. Separation of Powers: the three organs of government — judiciary, legislature and executive.

4. Fundamental Rights: The six major fundamental rights that every citizen of the country deserves as per the
Indian Constitution

5. Secularism: A country that promotes religious freedom for all its citizens
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SUBJECT COMPUTER (MR. PRAVEEN )

Ch-1 and Ch-2
Q) A is used to extract information from a database.
(b) The extension of a file in Microsoft ACCESS iS .........ceeeveeenns .
(c) Access does not allow....................... entries in a field that is primary key.
(d)Microsoft ACCESS IS @..uuveeerrevieniiieeeiiiiieennn, software.
Write shortcut keys for the following.
(a) To save a database.......................
(b) To quit Microsoft ACCESS .......cccvvverennnnnnns
(c) To open an existing database.................... (d) To rename atable......................

Identify the data type for the following fields

(@) ROIINO.....covvviciiiieccee,
(b) AMount..........ccovieiiieiiiie,
(c) Date of joiN........ccccvvveeieeennnn,
(d) Date of birth .................c..
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